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•••• Ñi;k tk¡p dj ysa fd bl iz'u&i= esa eqfnzr i`"B 16 rFkk iz'u 30 gSaA  

 Please make sure that the printed pages in this question paper are 16 in number 

and it contains 30 questions. 

•••• iz'u&i= esa nkfgus gkFk dh vksj fn;s x;s dksM uEcjdksM uEcjdksM uEcjdksM uEcj rFkk lsVlsVlsVlsV dks Nk= mÙkj&iqfLrdk ds eq[;&i`"B ij 
fy[ksaA 

 The Code No. and Set on the right side of the question paper should be written by 

the candidate on the front page of the answer-book. 

•••• Ñi;k iz'u dk mÙkj fy[kuk 'kq: djus ls igys] iz'u dk Øekad vo'; fy[ksaA 

 Before beginning to answer a question, its Serial Number must be written. 

•••• mÙkj&iqfLrdk ds chp esa [kkyh iUuk@iUus u NksMsa+A 

 Don’t leave blank page/pages in your answer-book. 

SET : D 
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•••• mÙkj&iqfLrdk ds vfrfjDr dksbZ vU; 'khV ugha feysxhA vr% vko';drkuqlkj gh fy[ksa vkSj fy[kk mÙkj u 
dkVsaA 

 Except answer-book, no extra sheet will be given. Write to the point and do not 

strike the written answer. 

•••• ijh{kkFkhZ viuk jksy ua0 iz'u&i= ij vo'; fy[ksaA jksy ua0 ds vfrfjDr iz'u&i= ij vU; dqN Hkh u 
fy[ksa vkSj oSdfYid iz'uksa ds mÙkjksa ij fdlh izdkj dk fu'kku u yxk,¡A  

 Candidates must write their Roll No. on the question paper. Except Roll No. do not 

write anything on question paper and don't make any mark on answers of objective 

type questions. 

•••• d`i;k iz'uksa ds mÙkj nsus lss iwoZ ;g lqfuf'pr dj ysa fd iz'u&i= iw.kZ o lgh gS] ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl ijh{kk ds mijkUr bl 
lEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkAlEcU/k esa dksbZ Hkh nkok Lohdkj ugha fd;k tk;sxkA    

 Before answering the questions, ensure that you have been supplied the correct and 

complete question paper, no claim in this regard, will be entertained after 

examination. 

lkekUlkekUlkekUlkekU; funsZ'k %; funsZ'k %; funsZ'k %; funsZ'k %    

General Instructions : 

    (i) bl iz'u&i= esa dqy 30 iz'u gSa] ftUgsa pkjpkjpkjpkj [k.Mksa % ^v*] ^c*] ^l*^v*] ^c*] ^l*^v*] ^c*] ^l*^v*] ^c*] ^l* rFkk ^n*^n*^n*^n* esa ck¡Vk x;k gSA    

        This question-paper consist of 30 questions, which are divided into four 

Sections : 'A', 'B', 'C' & 'D'. 
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 (ii) lHkh ç'ulHkh ç'ulHkh ç'ulHkh ç'u    vfuok;Z gSaAvfuok;Z gSaAvfuok;Z gSaAvfuok;Z gSaA    

        All questions are compulsory. 

    (iii) [k.M&[k.M&[k.M&[k.M&vvvv esa iz'u la[;k 1 ls 15 rd oLrqfu"B iz'u gSaA funsZ'kkuqlkj bu iz'uksa ds mÙkj nhft,A 

izR;sd iz'u 1 vad dk gSA    

        Section-A consist of Question Nos. 1 to 15 Objective Type Questions. Answer 

these questions as per instructions. Each question carries 1 mark. 

 (iv) [k.M&[k.M&[k.M&[k.M&cccc esa iz'u la[;k 16 ls 21 rd vfry?kq mÙkjh; iz'u gSaA izR;sd iz'u 2 vadkas dk gSA    

        Section-B consist of Question Nos. 16 to 21 Very Short Answer Type 

Questions. Each question carries 2 marks. 

 (v) [k.M&[k.M&[k.M&[k.M&llll esa iz'u la[;k 22 ls 27 rd y?kq mÙkjh; iz'u gSaA izR;sd iz'u 3 vadkas dk gSA    

        Section-C consist of Question Nos. 22 to 27 Short Answer Type Questions. 

Each question carries 3 marks. 

 (vi) [k.M&[k.M&[k.M&[k.M&nnnn esa iz'u la[;k 28 ls 30 rd nh?kZ mÙkjh; iz'u gSaA izR;sd iz'u 5 vadkas dk gSA    

        Section-D consist of Question Nos. 28 to 30 Long Answer Type Questions. 

Each question carries 5 marks. 

 (vii) dqN iz'uksa esa vkarfjd p;u iznku fd;k x;k gSA ,sls iz'uksa esa ls vkidks dsoy ,ddsoy ,ddsoy ,ddsoy ,d gh iz'u djuk 

gSA 

  Internal choice are given in some questions. You have to attempt only one 

of the given choice in such questions. 
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SECTION – A 

¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½¼oLrqfu"B iz'u½    

(Objective Type Questions) 

uksV %uksV %uksV %uksV %        fuEufyf[kr cgqfodYih; iz'uksa ds lghlghlghlgh fodYi pqfu, % 

   Select the correct option of the following multiple choice questions : 

  1. fdl izdkj dk ctV mÙke jgrk gS \ 1 

 ¼d½ ?kkVs dk ctV  

 ¼[k½ cpr dk ctV 

 ¼x½ lUrqfyr ctV  

 ¼?k½ mijksDr lHkh 

 The best budget is : 

 (A) Deficit budget  

 (B) Saving budget 

 (C) Balanced budget  

 (D) All of these 
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  2. ,d tkaro nkx gS % 1 

 ¼d½ v.Mk  

 ¼[k½ Qy 

 ¼x½ yksgs dk tax  

 ¼?k½ L;kgh 

 An animal stain is : 

 (A) Egg  

 (B) Fruits 

 (C) Rust of iron  

 (D) Ink 

  3. [ksyus ls cPpksa ds fdu {ks=ksa dk fodkl gksrk gS \ 1 

 ¼d½ 'kkjhfjd  

 ¼[k½ lkekftd 

 ¼x½ fØ;kRed  

 ¼?k½ mijksDr lHkh 
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 Which area is developed by playing in children ? 

 (A) Physical  

 (B) Social 

 (C) Motor  

 (D) All of the above 

  4. 'kh?kz u"V gksus okys inkFkksZa dks ------------- esa j[kuk pkfg,A 1 

 ¼d½ Ý ðð ððht  

 ¼[k½ ikuh 

 ¼x½ Vksdjh  

 ¼?k½ /kwi 

 Perishable foods should be kept in ………….. . 

 (A) Freeze  

 (B) Water 

 (C) Bucket  

 (D) Sunlight 
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  5. esVkfuy ;syks jax feykoV ds :i esa fdlesa mi;ksx fd;k tkrk gS \ 1 

 ¼d½ yky fepZ ikmMj  

 ¼[k½ nky 

 ¼x½ gYnh ikmMj  

 ¼?k½ 'kgn 

 Metanil yellow colour is used as an adulterant in : 

 (A) Red chilli powder  

 (B) Pulses 

 (C) Turmeric powder  

 (D) Honey 

  6. ^fo'o miHkksDrk fnol* dc euk;k tkrk gS \ 1 

 ¼d½ 31 ebZ dks  

 ¼[k½ 15 ekpZ dks 

 ¼x½ 2 fnlEcj dks  

 ¼?k½ 10 vDVwcj dks 
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 When 'World Consumer Day' is celebrated ? 

 (A) 31 May  

 (B) 15 March 

 (C) 2 December  

 (D) 10 October 

 fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %fjDr LFkku Hkjsa %    

    Fill in the blanks : 

  7. izca/ku ------------- fØ;k gSA 1 

 Management is …………… process. 

  8. vkSlru nks lky ds cPps dk otu yxHkx ------------- fdyksxzke gksrk gSA 1 

 An average 2 years old child weights about ………… kg. 

  9. cPpksa dk fVfQu ------------ rFkk ------------ gksuk pkfg,A 1 

 The children tiffin should be ………… and ………… . 

 fuEu iz'uksa ds mÙkj ,d&nks,d&nks,d&nks,d&nks 'kCnksa@okD;ksa esa nhft, % 

 Answer the following questions in one-two words/sentences : 

10. Fkdku fdrus izdkj dh gksrh gS \ 1 

 How many types of fatigue are there ? 
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11. ek¡ ds nw/k esa dkSu&lk [kfut yo.k ughaughaughaugha gksrk gS \ 1 

 Which mineral is not found in mother milk ? 

12. vkWDlhdkjd Cyhp dk uke crkb,A 1 

 Write the name of oxidizing bleach. 

13. lwph&lwph&lwph&lwph&I ds lkFk lwph&lwph&lwph&lwph&II dk feyku dhft, rFkk lwph ds uhps fn;s x;s dwVksadwVksadwVksadwVksa  esa ls lghlghlghlgh mÙkj pqfu, % 1 

  lwph&lwph&lwph&lwph&I  lwph&lwph&lwph&lwph&II 

 a. yksgk (i) jrkSa/kh 

 b. vk;ksMhu (ii) LdohZ 

 c. foVkfeu ^lh* (iii) ?ksa?kk 

 d. foVkfeu ^,* (iv) vuhfe;k 

 dwV %dwV %dwV %dwV %    

 ¼d½ a-iv; b-iii; c-ii; d-i 

 ¼[k½ a-i; b-ii; c-iii; d-iv 

 ¼x½ a-ii; b-iv; c-i; d-iii 

 ¼?k½ a-iii; b-i; c-iv; d-ii 

 Match List-I with List-II and select the correct answer by using the codes given 

below the list : 

  List-I  List-II 

 a. Iron (i) Night blindness 

 b. Iodine (ii) Scurvey 

 c. Vitamin 'C' (iii) Goitre 

 d. Vitamin 'A' (iv) Anemia 
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 Codes : 

 (A) a-iv; b-iii; c-ii; d-i 

 (B) a-i; b-ii; c-iii; d-iv 

 (C) a-ii; b-iv; c-i; d-iii 

 (D) a-iii; b-i; c-iv; d-ii 

 uhps fn, x, iz'uksa ¼iz0 la0 14-15½ esa vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A) vkSj dkj.k dkj.k dkj.k dkj.k (R) ds :i esa nks dFku fn;s x, gSaA 
uhps fn, x, mi;qDr fodYi dk p;udj iz'uksa ds mÙkj nhft, % 

 The questions (Q. No. 14-15) below consist of two statements namely 

Assertion (A) and Reason (R). Answer the questions by selecting the appropriate 

option given below : 

14. vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A)    : lHkh bysDVªkWfud midj.kksa esa ISI ekdZ gksrk gSA 1 

 dkj.k dkj.k dkj.k dkj.k (R) : ,d ekudhdj.k fpg~u mRikn dh xq.koÙkk fu/kkZfjr djrk gSA 

 fodYi %fodYi %fodYi %fodYi %    

 ¼d½ dsoy (A) lgh gSA 

 ¼[k½ dsoy (R) lgh gSA 

 ¼x½ (A) vkSj (R) nksuksa lgh gSa vkSj (R), (A) dh lgh O;k[;k gSA 

 ¼?k½ (A) vkSj (R) nksuksa lgh gSa] ysfdu (R), (A) dh lgh O;k[;k ugha gSA 
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 Assertion (A) : All electronic equipments has the ISI mark. 

 Reason (R) : A standardization mark determines the quality of the product. 

 Options : 

 (A) Only (A) is correct. 

 (B) Only (R) is correct. 

 (C) Both (A) and (R) are correct and (R) is the correct explanation of (A). 

 (D) Both (A) and (R) are correct, but (R) is not the correct explanation of (A). 

15. vfHkdFku vfHkdFku vfHkdFku vfHkdFku (A)    : vkgkj vk;kstu vk;q vkSj O;olk; ij vk/kkfjr gksrk gSA 1 

 dkj.k dkj.k dkj.k dkj.k (R) : vk;ksftr Hkkstu ikSf"Vd gksuk pkfg,A 

 fodYi %fodYi %fodYi %fodYi %    

 ¼d½ dsoy (A) lgh gSA 

 ¼[k½ dsoy (R) lgh gSA 

 ¼x½ (A) vkSj (R) nksuksa lgh gSa vkSj (R), (A) dh lgh O;k[;k gSA 

 ¼?k½ (A) vkSj (R) nksuksa lgh gSa] ysfdu (R), (A) dh lgh O;k[;k ugha gSA 
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 Assertion (A) : Meal planning is based on age and occupation. 

 Reason (R) : Planned meals should be healthy. 

 Options : 

 (A) Only (A) is correct. 

 (B) Only (R) is correct. 

 (C) Both (A) and (R) are correct and (R) is the correct explanation of (A). 

 (D) Both (A) and (R) are correct, but (R) is not the correct explanation of (A). 

            [k.M & [k.M & [k.M & [k.M & cccc    

SECTION – B 

¼vfry?kq mÙkjh; iz'u½¼vfry?kq mÙkjh; iz'u½¼vfry?kq mÙkjh; iz'u½¼vfry?kq mÙkjh; iz'u½    

(Very Short Answer Type Questions) 

16. le; izca/ku D;k gS \ 2 

 What is time management ? 

vFkokvFkokvFkokvFkok    

OR 

 ÅtkZ izca/ku D;k gS \ 

 What is energy management ? 
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17. larqfyr Hkkstu fdls dgrs gSa \ 2 

 What do you mean by balanced diet ? 

18. fd'kksjkoLFkk esa 'kkjhfjd fodkl dk D;k vFkZ gS \ 2 

 What do you mean by physical development in adolescence ? 

vFkokvFkokvFkokvFkok    

OR 

 fd'kksjkoLFkk dh ifjHkk"kk fy[ksaA 

 Describe the definition of adolescence. 

19. miHkksDrk lgk;rk ds lk/kuksa ds uke fy[ksaA 2 

 Write the names of Consumer Aids. 

20. [kjkc Hkkstu ls D;k vfHkizk; gS \ 2 

 Define spoiled food. 

21. lQkbZ dh 'kq"d fof/k;ksa ds nksnksnksnks ykHk fyf[k,A 2 

 Write two advantages of dry methods of cleaning. 
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SECTION – C 

¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½¼y?kq mÙkjh; iz'u½    

(Short Answer Type Questions) 

22. /kCcs NqM+kus okyh fof/k;ksa dk o.kZu djsaA 3 

 Describe the methods of stain removal. 

vFkokvFkokvFkokvFkok    

OR 

 ,d vPNs lkcqu ds xq.k fyf[k,A 

 Write the qualities of a good soap. 

23. cPpksa ds f[kykSus [kjhnrs le; fdu ckrksa dks /;ku esa j[kuk pkfg, \ 3 

 What points should be kept in mind while buying a toy for children ? 

24. vkgkj vk;kstu dk egÙo fyf[k,A 3 

 Write the importance of meal planning. 

vFkokvFkokvFkokvFkok    

OR 

 o`)koLFkk esa vki vkgkj esa ifjorZu dSls djsaxs \ 

 How will you modify the diet for old people ? 
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25. jlksbZ?kj esa lqj{kk laca/kh lko/kkfu;ksa ij ,d uksV fy[ksaA 3 

 Write a note on safety precautions in kitchen. 

26. Fkdku D;k gS \ blds izdkjksa ds ckjs esa fyf[k,A 3 

 What is fatigue ? Write about its types. 

vFkokvFkokvFkokvFkok    

OR 

 dk;Z ljyhdj.k D;k gS \ blds egÙo dks le>kb,A 

 What is work simplification ? Explain its importance. 

27. diM+ksa ds laj{k.k ls iwoZ dqN fu;e fyf[k,A 3 

 Write the general rules before storing clothes. 

            [k.M & [k.M & [k.M & [k.M & nnnn    

SECTION – D 

¼¼¼¼nh?kZ nh?kZ nh?kZ nh?kZ mÙkjh; iz'u½mÙkjh; iz'u½mÙkjh; iz'u½mÙkjh; iz'u½    

(Long Answer Type Questions) 

28. ikfjokfjd vk; c<+kus ds lk/ku dkSu&dkSu&ls gSa \ 5 

 Write the sources to increase the family income. 
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vFkokvFkokvFkokvFkok    

OR 

 vk; dh ifjHkk"kk crk,¡A vk; fdrus izdkj dh gksrh gS \ izR;sd dk o.kZu dhft,A 

 Define Income. How many types of income ? Describe each. 

29. [kjhnkjh djrs le; miHkksDrk dks fdu&fdu leL;kvksa ls xqtjuk iM+rk gS \ 5 

 What problems has to be faced by a consumer while shopping ? 

vFkokvFkokvFkokvFkok    

OR 

 feykoV ls D;k vfHkizk; gS \ dksbZ ik¡pik¡pik¡pik¡p HkksT; inkFkZ] muesa ikbZ tkus okyh feykoV ds lkFk fy[ksaA  

 What do you understand by adulteration ?  Write five food products with their 

adulteration. 

30. [ksy lkexzh dk pquko djrs le; /;ku j[kus ;ksX; ckrksa ds ckjs esa foLrkj ls fyf[k,A 5 

 Write in detail about the points to be remember for selection of play materials. 

vFkokvFkokvFkokvFkok    
OR 

 fd'kksjksa dh leL;kvksa dk o.kZu djsaA 

 Explain the problems of adolescents. 

S 


